A R

1. LEA4
THE4 SFN TN E MR T
THH4 REAS WA BR BE RS A 0 ) || 3t X o
2. LHEHNE
1)  FHEI4 NN ARS8k
2) T f& HEEMER T
3) T £ 365 H [H H SF TH 48 1H
ER %0 84 3H31H
4) T EAE

Etr@ms  Ju R



PR R E

THL | A7) E MR TE

THX Sy - THE - fER Bz B & & B il a1l ) EN
HH R = 142, 384, 128
EFLT = 1,618,519
PRHI T = 155, 250 | $i# il 500 m3
T A7 vhoh R BEE 5 000m3LL 10,
000m3 A ;
BARE LT = 1,061, 717 |E&MR (5LL8) &+ 140 m3
2. SmA ;
PR (L) ik 170 m3
2. 5mPL F4. OmART ;
PR (L) ik 260 m3
4. 0mPA E ;
BT = 401, 552 [JEHEHEE (U1430) 220 m2
BUGHOME V38 R OWE + e L
EIEEETE (B 1-58) 470 m2
LA E S & SSEHNE ;
I+ T = 14,793, 214
HRHI T = 1,620,810 |#EHI 320 m3
THp A7 vhoh R BEEE 5 000m3LL 10,
000m3 A ;
R HI 4,900 m3
(Fr o)1 H1X)
THp A7 b R BEE 5 000m3LL 10,
000m3 A ;
BARE LT = 1,258,511 | &R (FLL8) &+ 80 m3
2. SmA ;
PR (L) ik 80 m3
2. 5mPh 4. OmzART ;
PR (L) ik 960 m3
4. 0mPA E
FEA (b=27) 1 =X
b 550, 000m3 A
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PR R E

THL | A7) E MR TE

THEX4 - TiE - fE5 Bz B & & B A a1l ] EN
T wb S E 1 =X
W CEL- ERRED £5T)
BT = 145,563 | {EmEHETE (U1 350) 30 m2
BUGHOME VA8 R OWE + ke L
EIEEETE (B 1-58) 270 m2
LA E S & SEHNE ;
BB T = 11, 768, 330 | - Hb&E 1 =
(Fr o)1 H1X)
W CEL- ERRY £ETe)
HKHh 1 =X
2 AN TOME ;
RN = 358, 100
e T = 358,100 | A THEZ 500 m2
D7{+ % WE100cm ;
fHH 1B T = 10, 714, 409
fE+T = 31,991 |[FKHEY 1 7
NN
HWEREL 1 =
N
FLE e 1 T
YRR T = 70, 241 | RpEiEIE 572 m2
MEMEL ;
avy) - MahgE T = 5,819,350 | /@K (1A - B ER) 642 m2
HAITyvv7Y RC-40 1 EVE 150mm ;
a9 - E%E 954 m2
t=150mm 18-8-40 (& 4F) ;
PEAR RS A T = 1,643, 144 |5 =} v=p 59 m
WAL Gr-C—4E 50mLh b 100moARdl  HhRREA =
4 -
=N v 106 m
WAL Gr-C-2B 100mEh b pf S 4 1 2 ;

Etr@ms  Ju R




THL | A7) E MR TE

THXS5y - TR - fj H Oz gy & B il ] ) EN
VARTVASIN = 3,149,683 |7 myJwyh 92 m2
1:2.084 L 1:3. 0K ;
ARSYASY 280 m2
1:2.084 L 1:3. 0K ;
81k T 17 m
18-8-25(20) (&%) ;
f-7 ny )R (R) T = 2, 963, 246
) =b7"my ) T (av ) =17 ny ) FE) = 2,963, 246 | BT A7) -} 14 m
8 %2 35+15cm
18-8-40 (5 4F) JEME 55¢cm HE 35¢m ;
) =h (851 77 vy F8 62 m2
JIS g1 &% 35+15cm ;
JIRA - BLIA RS (RA) 37 m3
A4 RC40 ;
Ry )= (1) 12 m
18-8-40 (F&4F) # =1 V-wEEhk ;
w1k (1) (2) 2 (&30
18-8-40 (Fi)F) ;
il == = 19, 174, 412
fE+T = 637,915 |FRHE D 1 =X
T
HEL 1 =
T
FEREIE 1 =
LT HERE T. (4 HAT) = 1,689, 707 | B J) =Bk 15 m3
(15)
Im% 8 % 2mAY 18-8-40 (FHF) ;
) A PRk 10 m3
25)
Im% 8 % 2mAY 18-8-40 (EHF) ;
) =b7"my ) T (av ) =17 ny ) FE) = 8,192, 704 | BisGHTHAfE ) -} 88 m
& % 35cm
-3 - E+a5mE S 7%
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THXS5y - TR - fj H Az B & & B il ] ) R

18-8-40 (5 4F) JEME 43¢cm HE 25cm ;

a0 =h (851 77 vy F8 237 m2
JIS ¥ $Ez35cem ;

JIRA - BLIA RS (RA) 81 m3
MG RC-40

BT Rigav )b 6 m3
18-8-25 (F&JF) ;

SEEMZARINE- ¥ 1)) 4 m3
18-8-40 (&) ;

Rk 7)) = b (R ) 5 m3
18-8-40 (Fi)F) ;

BT = 8, 654, 086 | F:fifE T 10 m3

18-8-40 (/&) t=200 ;

ARIET 6 m
7 VRYAME 92 ABIAT =) 7000 X 3600 ;

T VRYANR 9 abnT =h (BPEHE) A 6 m
7000 X 3600 X 1000 ;

{RIBE | D T 1 =
PCHiHE ¢ 32 ;

TERRURRHE D L 1 =X
PCHiHE ¢ 32 ;

fitki o T 1 =
PCHiiHE ¢ 17 ;

JEERR T 17 m3
o ck=40N/mm2 ;

BhK T 1 =

BRIRNVERE T 31 m3
18-8-40 (FJF) ;

e 1 =
e SOV A

B 1 =
F=<40kN/m2[t =120cm] ;

FEEYRE T = 27,976, 152
i E+a5mE S 7%




THL | A7) E MR TE

THX Sy - THE - fER Bz B & & H il a1l ) R
HEmEE L T = 1 18,692, 100 | av7)—MiEi&EH BUE L 22 m3
AR B T
vy - MEIED IEE L 1, 000 m3
BRIy BT
TEHRALERE T = 1 9,284, 052 |k 22 m3
2y -hik (&)
Feeuikiin 1, 000 m3
avy) bk (BEAR) 5
BTy 51 t
) -hik (&)
ARGy 2,500 t
avy) bk (BEAR)
R T = 1 1,116,990
R T = 1 1,116,990 |FHiA (b=2") 2,700 m3
+W +&50, 000m3FKIH ;
Fe 2,700 m3
WL (-10)
T 3 1 1,631,616
FEPSBRE T g 1 1,631,616 |BREL 11, 200 m2
LGy #Hy 22 t
AE
SR T = 1 61, 053, 710
AR T = 1 61,053, 710 |nAlEE 1 =X
FEan = 1 983, 760
15, 1T = 1 658, 820 | {5{EP 117 x0A 1 =
B - fE BEAhTn-) ¢ 300 1mX 20m 1000NZ i/
3em 265 H [ ;
ABE T = 1 324,940 | ZZEFEE A B 22 AH
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PR R E

THL | A7) E MR TE

THXSy - T - fEjl B 7 H = & H i il A N

[ERCIE 20 1 142, 384, 128
Fd R 2 =X 1 16, 938, 000
Sl R E =X 1 2, 022, 000

FeAfriE B =X 1 558, 000 | HiEL 7 A 2 1 =

PR AT AR

BGRESGER (R5th) =X 1 1, 464, 000
ol (KE L) = 1 14, 916, 000
Wi TR =X 1 159, 322, 128
B e R =X 1 69, 595, 000
TRl =X 1 228,917, 128
—REEEE 20 1 34,912, 872
T Fefffi kg =X 1 263, 830, 000
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